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POLITICAL SCIENCE
( Major )
Paper : 5.6

Full Marks : 60
Time : 3 hours

The figures in the margin indicate Jfull marks
Jor the questions

Answer either in English or in Assamese

GROUP—A
( DEMOCRACY IN INDIA )

1. Answer any three of the following : 10x3=30
TS e & e fofism ey o -

(@) Discuss the causes for the development
of democracy in India.

SISNG SITeT R e 7ol AT
Sl

(b) Write the impact of colonial legacy on
the political system during post-

Independence.
IR SR TRATSS TS So{fEPTer
AT o for |
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(2) Ty

(c) Discuss the reasons for the growth of

regional political parties in India. Wl.lat 2. ;Z;;::vinzh?rt notes on any three of g:; B
are their contributions in rr}a%cmg Lo : ﬁ@m%ﬁmqmm .
democracy stronger? Give your opinion. GISIEE .

cHeTfe PR IASE W Sefed (a) Representative Democracy

mmmlmﬂmﬁﬁmﬁm

gfoffdeTers ez
(S SETERT S A (IR W3 H9[CEHA |

(b) Civil Disobedience Movement
(d) Discuss the characteristics of liberal

i ST HICHIeT
democracy. Is India a liberal democratic RIET|
country? Discuss. . |
ToFT SICEToAT O (c) Marxist Theory of Democracy
TR SO ISP 40 | Sedy
Q< T strelfER TG ? SNCALA! 41 | e
(e) Analyze the concept of election. What (d) Hare System
are the roles of Election Commission in 3
India? @R TS
o qEeCs! Remd 991 | Seedd friee
R ER Sofc o | 3. Answer the following questions : Dx4=8

o] 2PN By faay -

() What do you mean by Universal Adult
Franchise? Give arguments in favour of
Universal Adult Suffrage.

(@) Give two differences between Procedural
and Substantive Democracy.

AfeRq1orS W (e sierega o1 <2 e |
AT A cobien e e
SET AR (ORI T PR (b)  Point out two major challenges of Indian
S{[S[KCoRET | democracy.
, SIS SITeF Y31 24 ASNFH Sea Al |
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(4)

(S)

i (b) “Democracy is unfriendly to the growth
(c) Mention two causes for the failure of of knowledge:” Who. said. this?
Sepoy Mutiny. -
‘@] RerR AR ez of 77 1”° @IA
ool Rcarza fRereror 11 w159 Sears 3441 | -l AR
(d) Write two characteristics of Pluralist

Theory of Democracy.
2 SITeFd qo1 CafEs fera |

(c)

Give one reason for the success of
Bharatiya Janata Party in 2014 Lok
Sabha Elections.

3058 TY (ATl (e SRel & el e

4. Answer the following as directed : 1x7=7 TEE GO TR gy F9 |
weT frElRe Mo Ses i
(a) Who was the author of the book, The {d) How many seats are reserved for women

New Democracy and the New Despotism?

The New Democracy and the New
Despotism 94 4843 o133 &l 9

(i) Abraham Lincoln

(e)

in Lok Sabha?
RS TReN SERre S J230 w1 2

“Communism is the highest stage of

HERN ferE socialism.” Who said this?
@) J. S. Mill “STHRM (AR SHERMR RY W @A
¢F. 97, e i 2

(iti) Charles Merriam

() Marx / If

Blef5 <A (i) Joseph Schumpeter / @IST R0
(iv) Maclver (iii) Bernard Berelson / 36 (ICeme
QEESE (iv) Almond / TEYY

(Choose the correct one)

(wm TeChl AR Tfere)

(Choose the correct one)

(w7 Te3co! A1 Tfersan)
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& (7))
(

() Where is the Head Office of the UN

Chief Election Commission on Human Rights located?

() Who appoints the

Commissioner of India? TR TR RER SR 13 S T
SR T FHEA SHEe (A FRE 7017 wRfFS 7

(9 What is the meaning of the word (d) In which year was the Amnesty
2 ‘psephology”? . International awarded the Nobel Peace

e xarcom o & 2 Prize for the first time?
(I 578 IR TORGICETT A4 1A

TG <01 2 41 02 2
B (e) Marxists believe that rights are the
SRl products of capitalist society, which are
( HUMAN RIGHTS ) designed to maintain the privileges of

_ the ruling class.
the following as directed : 1x7=7 Y
1. Answer g e Wﬁﬂmﬁmmmwﬁmm
o s a R R e 72, Re @i 14 sRfre IR
(@) Human Rights are conditional. [P 56 fray 203 |
TR SRR, AT | (Write True or False)
(Write True or False) (o= ¢ w7 o)
(v 1 o fore) (9 What is the full form of CEDAW?

(b) The basic principle of French Revolution CEDAWS< 9y ol 3 2

were liberty, equality and ! (9) In which year was the Human Rights
7 fges e wifeE TR, e e Watch established?

l Human Rights Watch G 5e 4fe8 w41
(Fill in the blank) e

(0190 32 o 790)

——
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(8)

(9)
Answer the following questions : 2x4=8 (b) International Covenant on Civil and
2. ! Political Rights (ICCPR)
< the International Bill of Human CTR A AT SRR 8T pReerg
() el e (ICCPR)
Rights?
AR e SfdeR [ReE &2 (c) Human Rights Watch
(5) Mention any two characteristics of first T AT e
generation Human Rights. e (d) Significance of the UDHR
o oerd W SRR R G o TR ST TR e wesr
T 911
g SRR (e) Convention on Elimination of All forms
tion two principles 0 f Discrimination Against Women
(c) Mentio B o ta ot the Child, ot Discrimination Again m
Conventio TRR Re0w TRCARR 90 a9 T80
1989. SR
Sobrd B RIS TSR T SmRaffE 701
NS Tegy ¥4

4. Answer the following questions :
Oefq 2 Teq
(d) Mention any two areas of concern of o] 2PICIIRY
Amnesty International.

SR TOREEE e @ R e o

10x3=30

(@) What is Human Rights? Discuss the
basic characteristics of Human Rights.

g S | WW&?WWWwWW
SATCEToAT 547 |
- tes on any three of the
3. erlte_ short no 5x3=15 Or / §AT
following :
oo e R e bR o (O fer - Why do the cultural relativists oppose
‘ e the universalistic approach to Human
(a) Third Generation Human Rights Rights? Discuss the various arguments
TOH UEIR AR SRPE

forwarded by the cultural relativists.

( Continued ) e (TomsaueR)
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(b)

(©)
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(10 )

Ry ATFOP  SFFFORMPRE TR
SRFET G qEeRAcel WL WS ?

AFoE . ALARPFORAIRC  HSICHRT
ISR ACEGAT 47 |

Mention the Human Rights’ provisions
found in the UN Charter. Discuss the
role of the UNO for the development of
Human Rights.

JPRE 5T T4 PR A=A JagEal
TeEd 91 | e Sl Rerre g giie
DA 41 |

Or / <1

Critically analyze the Marxist
perspective on Human Rights.

TR PR TR AEEm qRsRon
SICAS [Rem 541 |

What is Amnesty International? Discuss
its functions.

AR ORI 5 ? [N RS s
el

Or / 941

What is International Human
Rights NGO? Discuss the functions

( Continued )
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of International Committee of Red Cross
as an International Human Rights NGO.

T4 SEFRA BB (@O 7758 1% 2 qo@
RPRT @B (@Il WE 2o

TORCGICE  PAD O @ G SRR
G 41 |

* k%

3 (Sem-5) PSC M 6 (A/B)



